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Part 1: Please choose the BEST answer for each question. (70%)
Question 1-5:

Federal Reserve Chairman Ben Bernanke recently ruled out a central bank 1 of state and local governments
strapped with big municipal debt burdens, saying the Fed had limited legal 2 to help and little will to use that
power. "We have no expectation or intention to get involved in state and local finance," Mr. Bernanke said in 3
before the Senate Budget Committee. The states, he said later, "should not expect 4 from the Fed."

The $2.9 trillion municipal-bond market has been stung recently by worries that some cash-strapped cities or states won't be
able to pay off or roll over debt. Costs have risen broadly for municipal borrowers. The market also faces challenges from

the expiration of the Build America Bonds program, which helped cities and states borrow $165 billion at interest rates held
down by federal [

1. (A) payback (B) bailout (C) refund (D) kickback
2. (A)admission (B) availability (C) authority (D) affirmation
3. (A) protest (B) contest (C) testification (D) testimony
4. (A)loans (B) leniency (C) lends (D) legacy

5. (A) subsidies (B) subsidiaries (C) subordination (D) submarines

Question 6-10:
The U.S. Court of Appeals for the Federal Circuit said a trial judge was wrong to toss a jury's finding that Microsoft

6 the patent held by Uniloc USA. The court, in a 59-page opinion, said the jury's 7 was
supported by substantial 8 . However, the court also said the jury's $388 million 9 to Uniloc for
Microsoft's violation was "fundamentally tainted," making it necessary to conduct a new trial on theamountof __ 10
Microsoft should have to pay. The court sent the case back to the trial level for further proceedings.

6. (A)invoked (B) breached (C) infringed (D) abolished
7. (A) verdict (B) election (C) pledge (D) disclosure
8. (A) prove (B) evidence (C) probation (D) evaluation
9. (A) sentence (B) fine (C) award (D) penalty
10. (A) advantages (B) benefits . (C) risks (D) damages

Question 11-15:

On December 27, 2010, The Legislature’s Transportation Committee passed a 11 asking the National
Communications Commission to 12 its ruling on ERA TV’s Variety Channel and hold a second 13

of the case. NCC Chairperson Su Herng said the commission respected the legislature’s decision but added that the license
of the Channel had been ceased to be effective, not revoked. “When the license came up for its 6" annual renewal in

November 2009, NCC, in consideration of the staff employed at the station, decided to renew the license 14
that ERA would stop advertising certain products on its shows. ERA had failed to honor its own 15 and
therefore had to be penalized.” ' '

11. (A) assertion (B) application (C) declaration (D) resolution

12. (A) erase (B) withdraw (C) delete (D) remove

13. (A) preview (B) interview (C) review (D) overview

14. (A) by means of (B) on condition (C) in compliance with (D) in lieu of

15. (A) promise (B) premise (C) precise (D) permit
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Question 16-20:

Duke Energy Corp. is close to a deal to buy Progress Energy Inc. in an all-stock 16 that would value its
smaller rival at more than $13 billion, joining forces to save on costs and seek cheaper sources of energy as utility
companies embark on a consolidation spree. On a state level, the transaction technically only needs regulatory 17
from North and South Carolina. That makes deal closure more certain than other utility deals that often fall through because
they have to get regulatory clearances from multiple state governments, in addition to 18 clearance.

Headquartered in Raleigh, North Carolina, Progress has more than 22,000 megawatts of power generation capacity with
$10 billion in annual 19 . The company has two electric utilities that serve over 3 million customers in Florida
and the Carolinas. Duke Energy, with a market cap of $23.6 billion, provides gas and electricity services to customers in the
Carolinas as well as Ohio, Indiana and Kentucky. The deal would 20 significant cost savings for the two
companies.

16. (A) manipulation { (B) mortgage (C) merger (D) monopoly
17. (A) requirements (B) approval (C) provisions (D) discharge
18. (A) federal (B) transnational (C) cross-border (D) foreign
19. (A) assets (B) expenses (C) deficiency (D) revenue
20. (A)result in (B) result from » (C) as aresult (D) result by

Question 21-25:

The Justice Department's antitrust division is conducting some sort of 21 into UPS and FedEx regarding
22 that they are blocking customers from using third-party shipping consultants and negotiators. A lawsuit that
has been filed against UPS and FedEx by Portland-based AFMS 23 the two shipping giants are 24

and refusing to negotiate with third-party consultants.

According to the lawsuit, which was filed several months ago, AFMS found that from 2007 to 2009, its customers saved
more than $100 million in connection with their UPS and FedEx shipments. “The use of consultant-generated discounts has

25 price competition between UPS and FedEx, which otherwise was at a reduced level,” the lawsuit said.
21. (A) investigation (B) invalidation (C) investments (D) infrastructures
22. (A) compliments (B) compliance (C) compromise (D) complaints
23. (A) alleges (B) denies (C) promotes (D) protects
24. (A) allowing (B) boycotting (C) concurring (D) distributing
25. (A) shrank (B) declined (C) lessened (D) reinvigorated

Question 26-30:

The Social Network is a 2010 drama film about the founding of the social networking website Facebook and the resulting
lawsuits. On a fall night in 2003, Harvard undergrad and computer programming genius Mark Zuckerberg sits down at his
computer and heatedly begins working on a new idea. In a fury of blogging and programming, what begins in his dorm

room soon becomes a global social network and a revolution in 26 . A mere six years and 500 million friends
later, Mark Zuckerberg is the youngest billionaire in history, but for this 27 , success leads to both personal and
legal complications. ,

The framing device throughout the film shows Mark testifying in 28 in two lawsuits: one filed by the
Winklevoss twins, and the other filed by Eduardo Saverin, Mark’s best friend over yrars. In the final scene, Marilyn Delpy,
a junior lawyer for the defense informs Mark they will be 29 Eduardo, since the sordid details of Facebook's

founding and Mark's personality will make a jury highly unsympathetic. The film ends with Mark sending a friend request
to his former girlfriend Erica on Facebook, and refreshing the page every few seconds waiting for a 30 .
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26. (A) delivery (B) transportation " (C) interpretation (D) communication
27. (A) intermediary (B) employer (C) purchaser (D) entrepreneur
28. (A) jurisprudence (B) depositions (C) authentications (D) discovery
29. (A) settling with (B) fighting against (C) trading out (D) staying away from
30. (A) response (B) replay (C) renewal (D) reliance

Question 31-35:

Why is the world producing so much garbage? Garbage is an unavoidable result of consumption. And to 31
the high standard of living that has been reached in many industrialized countries, we must continue to consume, as the
consumption keeps the wheel of industry turning. We use the rapidly disappearing natural resources of the earth to feed the

machines of industry, which 32 produce endless quantities of consumer goods. What we haven’t been able to
do, however, is to find a successful way to 33 all the by-products of industry and the products themselves
when they are used up, worn out, or 34 .

One of the biggest causes of the garbage problem is the world’s exploding population. More and more people means more
and more waste. Before the industrial revolution, when the world population was very small, the problem of garbage did
not exist. Whatever waste was produced then could be absorbed by the earth without 35 nature’s balance, but
nature can no longer cope with the amount of garbage that is currently being produced.

31. (A) contain (B) entertain (C) maintain (D) ordain

32. (A) by contrast (B) in turn (C) more or less (D) to the contrary
33. (A) take off (B) consist of (C) dispose of (D) put off

34. (A) outdated (B) outfitted i (C) outreached (D) outnumbered
35. (A) corrupting (B) disrupting (C) retaining (D) sustaining

Part 2: Please translate the following paragraph into Chinese: (15%)

American International Group Inc. ( £ B B M4 ) , which is trying to end a long-running case over alleged
under-reporting of premiums on workers' compensation policies, has agreed in principle to pay $450 million to settle
litigation with rival insurance companies. The proposed settlement relates to a civil lawsuit filed against AIG in
mid-2009 by two firms, Safeco Insurance Co. of America ( % Bl Safeco 4% 2 3] ) and Ohio Casualty Insurance Co.
(B Z B E I FHIRH% 8 ) on behalf of a group of insurance companies. The two companies, whose ultimate

parent is Liberty Mutual Insurance Co. ( & & # F] 4%/ 3] ) , had sought class-action status for the case and oppose
the settlement.

Part 3: Please translate the following paragraph into English: (15%)
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